5 Port Mechanical Valve/Metal Seal

Series VVZM40

Compact design,
Large flow capacity/Cv.0.55

High cycle rate,
Long life/300c.p.m.

Piping possible to any EXH port.

Proper countermeasures can be taken for
applications in which the noise of the
exhaust could cause problems to the sur-
roundings.

External pilot model avail-
able. (Option)

Foot bracket and manifold
mounting possible.

r‘rp‘tp '

: H \—— ba E \-—‘ 'Ei \-—' |E=
| i ! L e s
. N

Specifications
Fluid Air, Inert gas
Operating pressure 0.15to 1.0MPa @ SOA
Ambient and fluid temperature -5 to 60°C (No freezing) —
Effective area (Cv) 9.9mm? (0.55) VOA
Maximum frequency (Mechanical operation style) 300 c.p.m or less -
Lubrication Not required/Turbine oil #1 (ISO VG32)
Port size (Nominal size) M.aln vaive/Re(PT) /g (6A)
Pilot valve (EXH)/M5 X 0.8 SOA
Option Foot bracket ®
Weight (Basic) 1509
OContact SMC for manifold mounting style. VDA
Q Note 1) External pilot Main valve: 0 to 1.0MPa
Pilot valve: 0.15 to 1.0MPa
Note 2) The standard body can not be retrofitted with a foot bracket.
VMIVR
Model /
Actuator Model ﬁgtrltjath.r Application VH
s Basic VZM450-01-00 - -
g Roller lever VZM450-01-01 VM-01C Polyacetal roller
o VZM450-01-01S VM-01CS Hard steel roller
o VZM450-01-02 VM-02C Polyacetal roller
< | One way roller lever
Q VZM450-01-02S VM-02CS Hard steel roller
& | Straight plunger VZM450-01-05 VM-05C -
2 Roller plunaer VZM450-01-06 VM-06C Polyacetal roller
= plung VZM450-01-06S VM-06CS Hard steel roller
Toggle lever VZM450-01-08 VM-08C -
VZM450-01-30R VM-30CR Red
VZM450-01-30B VM-30CB Black
Push button (Mushroom) VZM450-01-30G VM-30CG Green
VZM450-01-30Y VM-30CY Yellow
s VZM450-01-32R VM-32CR Red
B=] VZM450-01-32B VM-32CB Black
% Push button (Extended) VZM450-01-32G VM-32CG Green
(_05 VZM450-01-32Y VM-32CY Yellow
2 | Push button (Flush) VZM450-01-33 vmasc |V Z;e;n‘?f;;?(;x'a‘:k’
= VZM450-01-34R VM-34CR Red
Twist selector (2 position) VZM450-01-34B VM-34CB Black
VZM450-01-34G VM-34CG Green
VZM450-01-34Y VM-34CY Yellow
Key selector (2 position) VZM450-01-36 VM-36C -

Q Note) Actuator replacement is available for all styles.

3.5-34




VZM400

How to Order

VZM45 |0

0101

S

Option
Suffix of actuator - Foot bracket
. Actuator S | Hard steel roller (Only internal pilot)
Port size 00 Basic R | Red
0] RePD ¥ 01 Roller lever B | Black | Color of push
02 One way roller lever G |Green| button
Body option 05 Straight plunger Y |Yellow
0 | Internal pilot style 06 Roller plunger
1 | External pilot style 08 Toggle lever
30 |Push button (Mushroom)
32 |Push button (Extended)
33 | Push button (Flush)
34 | Twist selector (2 position)
36 | Key selector (2 position)
Construction
Non-actuated Actuated
Force
!
A =
B
Componet Parts
No. Description Material Notes No. Description Material Notes
@ | Body ADC Metallic plated Valve NBR
@ | Pilot body PBT Only external pilot style: ZDC @ | Piston guide B Aluminum alloy
3 | Head cover ZDC Black zinc chromated @ | Return spring Stainless steel
@ | Spool sleeve Stainless steel @3 | Cushion Rubber
® | End cover POM Cushion Rubber
® | Piston A POM @5 | Valve spring Stainless steel
@ | Plunger POM Return spring Stainless steel
® | Vvalve seat (A) POM @ | Piston B POM
@ | Valve seat (B) POM

3.5-35




VZM400

Series VZM400
Basic/ vzZM450-01-00
@rﬂ I -1
2l T
‘ JIS Symbol
30
(2) (f«)
05| :zszz? ) /fégegégory ,\Fﬂ’?ioﬁ tport \ / KD
el — mounting hole (Pilot exhauist port 11 VL
f I EBYP)EA)
joral
RS
-~ <L
By =) Ny
N a
= © © R
% © @ % <"
|91} —
@ B L 1N ©
& 1§£ Iy : <\ ~ 00.5MPa supply|
SJ = - 555 b F.O.F.0 16N
13 6.7 P.T. imm
> : 5-Re(PT)}
2- 3.5 Mounting hole (PT)’ O.T. 2mm
T.T. 3mm
Roller Lever/ vzm450-01-01, VZM450-01-01S
(37) 214 Polyacetal or hard steel roller
33 JIS Symbol
16.5 o .
8 17 === (B)(A)
0[O 2 4
A
| L M5x08 o P KD
4 (Pilot exhaust port) 3 15
o | e = [ (EB)P)(EA)
8 i e
o
—|N
<{ CD:
- N s
I © 3 —
b <
o L -
& ; % S
i 2 i [10.5MPa supply
'3 225 2 T
13 %67 | 5-Ro(PT)%/| 18 F.O.F. 8N
- 30 P.T. 2.2mm
2- 3.5 Mounting hole O.T. 4mm
T.T. 6.2mm
One Way Roller Lever/ vzm450-01-02, VZM450-01-02S
@14 Polyacetal or hard steel roller
(42)
33 e JIS Symbol
8 =165, i (B)(A)
N 11‘ - ‘/ P 2 4
mip I - ) X /
LI:;} (152.‘3 hm P ] @
== ] M5 X 0.8 3 e
iE}: N (Pilot exhaust port) (EB}PXEA)
L1} N g2l Y i
= 0 m
~ 0
! o T
| N <+
75 5| B
NN o © s T
=y ||k | ¢ & By
RIEA e~
5| | o6 = i
& \n‘J@; ]7 “ § 2 00.5MPa supply
M} (225 ] 2 F.O.F.0 7N
13 26.7,| 5-Re(PT) /718 P.T. 2.4mm
2- 3.5 Mounting hole 30 oT. 4.6mm
T.T. 7mm

3.5-36

SOA
VOA

SUA
VOA

VMIVR

VH



VZM400

Series VZM400

Straight Plunger/ vzm450-01-05

Panel mounted hole

M14 X ©
ol Lock nut 8mm thick,
= 13 S e ®/
MIN.2.5
= MAX.9.5
1 oo
é% ~ [N M5 X 0.8
= (Pilot exhaust port)
lTl piiaiing T JIS Symbol
| [
f ) = (B)(A)
1 & S W] M2 .
< & = u{%—
2N N 7 1, / KD
3 = (EB)P)EA)
of |0 Y i
& ik 7 ® I |
miE. 555 — 00.5MPa supply
13 26.7. | 5-Re(PT %/ [T F.O.FY 18N
S0 P.T 1.5mm
- 3.5 Mounting hole 1. .
238 . O.T. 2mm
T.T. 3.5mm
Roller Plunger/ vzm450-01-06, VZM450-01-06S
Panel mounted hole
9
[ === 12 Polyacetal or hard steel roller @/
il \ M14 x1 MIN. 2.5
HT 7= Lock nut 8mm thick, o [ LMAX.95
4 %L } —12 22mm A F.
b (D =[S M5 X 0.8
= (Pilot exhaust porty
qu @e% i JIS Symbol
‘ 2 o ® ")
! & &g N 24
| | Q| —
={
- e e =hY
£ T 315
~ ) ¢ s s F (EB)(P)EA)
N DS
2 0 ! 4! !
% 19 1113 g
3 55 T 0J0.5MPa supply
13 26.7 E F.O.F.0 18N
2- 3.5 Mounting hole P.T. 1.5mm
O.T. 2mm
T.T. 3.5mm
Toggle Lever/ vzm450-01-08 Panel mounted hole
T.T. )
25 .
OFF 22w o ®/
2-M14 X 1
- Lock nut 5mm thick, — [ MAXES
(e s -;r) 17mm A.F.
= 3E
| Pt o ) JIS Symbol
rl @P_ Y £ (Pilot exhaust port) ymbo
|||
= - &% (B)(A)
b i |2 4
o = j.’{ \\ /
/_:I = ¢ T T
! 0 < 3 15
SEIVNE + 8 (EB)(P)(EA)
3 *
(a2} )
1) =+ i nt
& !%2 i z | @
R 225 >
L3 267 | 5 Re(PT)/| 18
2- 3.6 Mounting hole 30 00.5MPa supply

F.OFU 15N

T.T. 40°

3.5-37




VZM400

Series VZM400
Push Button (Mushroom)/ vzm450-01-30R, B, G, Y

Panel mounted hole

040 S
‘Sig E MAX.6
T - - SCA
o AR e Mox08 JIS Symbol —
T (Pilot exhaust port)
= VOA
S8 mj@: ®)*)
)= [N 2" 4
alz
_ 52 <
T n i yar i T -
< 315
~ E 3 L s e EBIPYEN) SOA
J 1 < —
o | = ——
[32]
m = 11
Ry b s ; E | 0_'3 00.5MP [ LDA
13 26.7 - 1 18 el
e 30— 9Re(PT PT. 4.8mm
2- 3.5 Mounting hole oT. 1.7mm VM/VR
T.T. 6.5mm
Push Button (Extended)/ VvzM450-01-32R, B, G, Y panel mounted hole VH
238
224.5 cEE ‘

Y MAX.6

=

|-
15
1.5

235

PES R Tﬂﬁ\ﬁ

fz:8 eanl . M5 X 0.8
(1] b * (Pilot exhaust por) JIS Symbol
T o (B) (A)
it 1 2 4
) | Z)
m = ] /\/\
¢ = L & T T
T 15
~ (EB)(PXEA)

J0.5MPa supply

1
22.5

233 |
!
o= 9;@1“&
12.8 8
|
T %
138 36
%EQE 5
Il\)
17.8]14 | 14

26.7, 5-Re(PT) Y%/ 18 F.o.F.U 21N
2- 3.6 Mounting hole 30 P.T. 4.8mm
O.T. 1.7mm
T.T. 6.5mm

Push Button (Flush)/ vzm450-01-33
Panel mounted hole

1& :
NG
W |00
PT
o,
TT.

]3]
_L_:g ﬁED [l%l MAX.6
| | 1———4.](’)':0 J L
-r |E7 — X [
Faal A Ay
t 4 1 T J Ho M5 X 0.8
| | = " (Pilot exhaust port) JIS Symbol
e~ Ty a
g|& . (B)(A)
- =2 | 2 4
5 1 et ikl /\/\
D
A =il 48D
-] Q 3 1 5
N EIFNL * ® = (EB)(P)EA)
@ o ] 4 ve] «Q
Q ’ég ] i s N
AiE 225 5-Ro(PT % __18_2_ 0 0.5MPa supply
113 23%7 e 8 F.O.F.0 21N
2- 3.5 Mounting hole P.T. 4.8mm
O.T. 1.7mm
T.T. 6.5mm

3.5-38



VZM400

Series VZM400

Twist Selector (2 position)/ VZM450-01-34R, B, G,Y

e

Panel mounted hole

Al
OFF|l.__39
238 MAX.6
024.5
[ oo
fe—te—] O
v JIS Symbol
“5
A © ®B)A)
— 2 4
Ms5X08
| & (Pilot exhaust port) \
_[a8 A
= 31 5
= (EB)(P)EA)
*+ 8
H =
; o
225 P
26.7 5-Re(PT) )% ‘1%‘ . 0J0.5MPa supply
2- 3.5 Mounting hole 30 F.O.F. 23N
— TT. 90°

Key Selector (2 position)/ vzM450-01-36

Panel mounted hole

®

M5 X0.8

Mounting hole

MAX.6
238
i 5
LJ E% N L)
Ln' o]
2|8 JIS Symbol
(B)(A)
% : % T 1Y
© A4
= & . M5 X 0.8 ;\ /]’ i\
2 = g (Pilot exhaust port) 31 5
a7 o (EBYP)EA)
i S o
B 5
5 5 -
S o =
l: © £33 © | ~ ¥
@ i P i
g LIHR |3 S
ALE 22.5 , 2 0 0.5MPa supply
Key can be removed in “on” and “off” 13 2:;30'7 S-RelPTVe/ 8. F.O.F.H 26N
positions. 2- 3.6 Mounting hole, T 90°
External Pilot Style With Foot Bracket
VZM451 Type VZM450-01-00-F
46.6
2-4.5 L 38

(External pilot port)

[ S

61.8

0O L

3.5-39




